Micro Application

Perfectly Competitive Market
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In a perfectly competitive firm, an increase in the cost of labor causes the marginal cost curve to shift upward and the average cost curve to shift upward.  Holding demand constant, quantity sold will decrease along with the firm’s profit.

Imperfect Competition – which includes monopolistic competition, some oligopoly models, and monopolies.
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In an imperfectly competitive market, an increase in the price of labor would shift the marginal cost (mc) curve up to the left and the average cost (ac) curve up to the left. The cost of producing the next unit (mc) would increase because of the additional labor costs. The average cost per unit would rise because the labor component of each good would increase. For example, Health benefits that were demanded by the UAW union for retirees and active workers added between $1,500 and $2000 to every GM vehicle made in 2012. The end result of an increase in labor cost is higher prices, less goods sold, and lower profits.

If the labor cost increase affects the entire industry, the industry’s supply curve will shift left. The price of the good or service will rise and the quantity sold will fall.

Macro Perspective

The labor market is connected to the goods market through the aggregate supply curve.
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From a macro perspective… the labor market feeds into the product/goods market through the aggregate supply curve.
An increase the cost of labor will shift the short run aggregate supply curve to the left. The impact of the long run aggregate supply curve depends on a variety of factors. 

Is the change permanent or will adjustments be made in the labor market to counter the change in labor cost? 

Discussion Questions

The reason nurses and teachers are paid relatively low wages is because the fields are dominated by women (75 percent of the teachers and 90 percent of nurses).

Employers should be free to hire whoever they want and pay them whatever they want.

Illegal immigrants should be sent back to the countries – they are by definition illegal.

The government should regulate wages paid to CEOs, athletes, musicians and actors. 

What effect does a decline in the Chinese economy have on the US labor market?

How does the legalization of marijuana impact the labor market?

http://www.talenteconomy.io/2016/12/20/marijuana-legalization-affect-economy/
http://ftp.iza.org/dp9831.pdf
How does the trend of getting married at a later age impact the labor market?

http://www.theatlantic.com/sexes/archive/2013/03/getting-married-later-is-great-for-college-educated-women/274040/
A good example of a technical article
http://www.nytimes.com/2015/04/05/opinion/sunday/the-real-reason-college-tuition-costs-so-much.html?_r=0
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seasonally Adjusted

ALL employees, thousands, total nonfarm, seasonally adjusted
Total nonfarm
Total nonfarm

ALL EWPLOVEES, THOUSANDS

Year| Jan | Feb | Mar | Apr | May [ Jun | Jul | Aug | Sep | Oct | Nov | Dec
2006 135452 | 135767 136049 | 136232 136257 | 136336 | 136542 | 136725 136878 136886 137095 | 137266
2007 137506 137505 137785 137865 138008 | 138083 | 138040 | 138029 | 138117 138201 | 138315| 138413
2008 | 138430 138346 | 138268 | 138058 | 137872 137710 137407 | 137230 | 136780 | 136306 135540 | 134846
2009 134053 133351 | 132528 | 131841 | 131402 131021 130602 130479 130259 | 130055 130053| 129778
2010 129801 | 120733 129897 | 130140 | 130664 130527 | 130459 | 130423 | 130371 | 130633 | 130752 | 130839
2011 130882 131071 131206 131642 131719 131044 132013 132123 132371 | 132580 132721| 132930
2012 133288 133525 133758 | 133836 | 133051 | 134027 | 134170 | 134347 | 134550 | 134606 | 134828 | 135072
2013 135283 135569 | 135609 | 135806 136122 136284 136406 | 136667 | 136857 | 137069 | 137327| 137374
2014 137564 | 137715 137987 138316 138562 138866 139068 | 139208 | 139578 | 139805 140117 | 140372
2015 140606 | 140844 140930 141192 141536 141742 141006 142153 | 142053 | 142574 142846| 143085
2016 143211 143448 143673 | 143826 143860 | 144166 | 144457 | 144633 | 144882 | 145006 |  145170| 145325
2017 | 145541 | 145773 | 145823 | 146030 | 146175 | 146385 | 146523 | 146731 | 146762 | 146980 | 147232(P) | 147380(P)
P preliminary

Series Id:  CES000000010
seasonally Adjusted

vomen employees, thousands, total nonfarm, sessonally adjusted
Total nonfarm
Total nonfarm

WOUEN ENPLOVEES, THOUSANDS

Year | Jan | Feb | Mar | Apr | May [ Jun | Jul | Aug | Sep | Oct | Nov | Dec
2006 | 65390 | 65464 65567 | 65587 | 65549 | 65580 | 65814 65041 66073 | 66174 |  66312| 66446
2007 | 66526 66746 | 66835 | 66216 67052 67131 | 67159 67272 67340 67432| 67504 | 67630
2008 | 67642 67670 67703 | 67620 | 67669 | 67621 | 67625 | 67488 67343 67168| 67009 66797
2009 | 66527 | 66318 66067 | 65822 | 65698 | 65558 | 65431 | 65345 | 65238 65175| 65120 65043
2010 65066 | 65004 65073 6506 | 65303 | 65171 | 65087 | 65020 64963 65038| 65072 | 65114
2011 [ 65124 65160 65247 65406 65369 | 65449 | 65451 | 65478 65562 65651 | 65697 | 65774
2012 6591 | 66066 | 66159 | 66195 | 66201 | 66314 66380 66457 | 66547  66608| 66696 | 66777
2013 66886 66995 67056 67181 | 67281 | 67346 | 67438 67610 67696 67766 67926 67950
2014 67966 68032 68145 | 68312 | 68303 | 68516 68567 68684 68833 | 68%62|  69084| 69221
2015 69316 69461 | 69515 69651 | 69810 69959 70059 | 70128 70183 70378|  70496| 70629
2016 70755 70043 | 71070 71186 71255 71441 71632 71782 71873 71047 | 71945| 72086
2017 | 72107 | 72238 72228 | 72308 | 72384 | 72456 | 72542 | 72660 | 72668 | 72757 | 72923(P) | 72970(P)
P preliminary
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